HOME Katrina Ballerina © Jane Eborall 2006
Amended 2018
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Materials needed: - Number 20 thread (ballerinas measure 234"), two size 10 seed beads 2
shuttles.

Skills Required:- Knowledge of SCMR, Split rings, Josephine Knot.

Abbreviations

R ring Ch chain - or p picot SR split ring S start
+ join cl close Lj lock join SS switch shuttles

JK Josephine knot vsp very small picot Shl shuttle 1

T & C tie and cut MB move bead in place on core thread SCMR self closing mock ring
CTM  continuous thread method - picots measuring 7mm

S start

Version 1 - facing front
Add two beads to the thread and wind 3 yards of thread onto Sh1. Pull off another 32 yards ,
cut and wind onto the second shuttle - CTM. Before starting be sure that the beads are on the
Sh1 thread.
Head - Sh1 in right hand to start

SCMR1: 1 vsp 3 MB 3 VIp (2 cm) 3 SS S
JK: 2+ (Vlp on SCMR) 8 VIp (5mm) 2 CI SS
SCMR1: 3+ (VlponJK)3 MB3vsp1lCISS .
Body Fig 1

SR2: 1+ (vspSCMR1) 2vsp2vsp8/ 1+ (vsp SCMR1) 2 vsp 2 vsp 8 vsp 2 vsp 2 Cl

Skirt

SR3: 4vsp2/2Cl

SR4: 2vsp 2/ 2+ (next vsp SR2) 2 Cl
SR5: 2/ 2 + (next vsp SR2) 4 Cl

SR6: 3/ 6 vsp4vsp4Cl

SR7: 4/ 2 vsp 2 Cl

SR8: 2 + (vspSR4) 2/ 2vsp 2Cl
SR9: 4/ 2 vsp 2 Cl

SR10:3 + (SR3) 6 /4 vsp 4 CI SS

Ch: 5Lj(SR10) 1 (--1x5)Lj(SR9) 1 (——1x4)vspl1lLj(SR8) -——-1vsp1l(-—1x4)Lj
(SR7) 1 (== 1x5)Lj (vsp SR6) 5 Lj (vsp SR6) T & C to next vsp SR6.
Right Arm

R1: 3 + (lowest vsp SR2 on right side) 2 + (next vsp SR2) 3 vsp 1 ClI
SR2: 1+ (vspR1)2vsp1l/4Cl

SR3: 1+ (vspSR2)1vspl1l/5Cl

SR4: 1+ (vspSR3)1vspl1l/5Cl

R5: 1+ (vspSR4)2-4CIT&C

Left Arm

R1: 3 + (upper vsp SR2) 2 + (vsp SR2) 2 vsp 1 Cl
SR2: 1+ (vspR1)2vsp1l/4Cl

SR3: 1+ (SR2)1vsp1l/5Cl

SR4: 1+ (SR3)1vspl/5Cl

R5: 1+ (vspSR4)3-4CIT&C

Legs

Rl1: 1vsp3-3vspldl
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SR2: 1+ (vspR1)2vsp1l/1+ (vspSR1l)2vsp1lCl

SR3: 1+ (vspSR2)2vsp1l/1+ (vspSR2)2vsp1lCl

SR4: 1+ (vspSR3)2vsp1l/1+ (vspSR3)2vsp1lCl

SR5: 1 + (vsp SR4) 3 + (vsp chain btwn SR7 & SR8 @ base of skirt) 1 /1 + (vsp SR4) 1 Cl
SR6: 1 + (vsp chain btwn SR8 & SR9 @ base of skirt) 2 vsp 1/ 3 vsp 1 Cl

SR7: 1+ (vspSR6)2vsp1l/1+ (vsp SR6) 2vsp1Cl

SR8: 1+ (vspSR7)2vsp1l/1+ (vspSR7)2vsp1lCl

SR9: 1+ (vspSR8)2vsp1l/1+ (vspSR8)2vsp1lCl

R10: 1+ (vspSR9)3 -3+ (vspSR9)1CIT&C

Version 2 - facing sideways
2 shuttles. Add 1 seed bead to the thread and wind 3 yards of thread onto Sh1l. Pull off
another 3 yards and wind onto the second shuttle - CTM. Before starting be sure that the bead
is on the Sh1 thread. Note - follow fig. 2 for body and skirt then fig 5 for arms and legs.
Head - (Sh1l in right hand to start).

SCMR1: 6 MB 4 VIp (2 cm) 3 SS

JK: 2+ (Vlp) 8 VIp (Y2cm) 2 CI SS

SCMR1: 3+ (VlponJK)5vsp1lCISS
Body
SR2: 1+ (vspSCMR1) 3 vsp1lvsp4/4vsp1lvsp8vsp2vsp?2Cl
Skirt

SR3: 4vsp2/2Cl

SR4: 2vsp 2/ 2 + (next vsp SR2) 2 Cl
SR5: 2/ 2 + (next vsp SR2) 4 CI

SR6: 3/ 6 vsp4vsp4Cl

SR7: 4 /2 vsp 2Cl

SR8: 2 + (vsp SR4) 2/ 2 vsp 2 Cl Fig. 4

SR9: 4 /2 vsp 2 Cl

SR10:3 + (SR3) 6 /4 vsp 4 CI SS

Ch: 5Lj(SR10)1(-——1x5)Lj(SR9) (-—1x4)vsp1Lj(SR8)--1vsp1l(--1x4)Lj(SR7)
1 (-——1x5)Lj(vsp SR6) 5Lj (vsp SR6) T & C to next vsp SR6.

Right Arm

R1: 6Cl

Holding the ring on TOP of SR2 join Sh1l with a downward join to the upper vsp on SR2. Join
Sh2 using the same downward to lower vsp. This ring overlaps SR2 - see diagram.

SR2: 3vspl/3vsplCl

SR3: 1+ (vspSR2)2vsp1l/1+ (vspSR2)2vsp1lCl

SR4: 1+ (vspSR3)2vsp1l/1+ (vspSR3) 3Cl

R5: 1+ (vspSR4)3-4CIT&C

Left Arm

R1: 1 vsp 2 + (upper vsp SR2) 1 + (next vsp SR2) 3 vsp 1 CI
SR2: 1+ (vspR1)2vsp1/1+ (vspR1l)2vsp1lCl

SR3: 1+ (vspSR2)2vsp1l/1+ (vspSR2)2vsp1lCl

SR4: 1+ (vspSR3)2vsp1l/1+ (vspSR3) 3Cl

R5: 1+ (vspSR4)3-4T&C

Legs

R1: 1vsp3-3vspldCl

SR2: 1+ (vspR1)2vsp1/1+ (vspSR1)2vsp1lCl

SR3: 1+ (vspSR2)2vsp1l/1+ (vspSR2)2vsp1lCl

SR4: 1+ (vspSR3)2vsp1l/1+ (vspSR3)2vsplCl g
SR5: 1 + (vsp SR4) 3 + (vsp chain btwn SR7 & SR8) 1 /1 + (vsp SR4) 3
SR6: 3 + (vsp chain btwn SR8 & SR9) 1 vsp 1/ 3 vsp 1Cl

SR7: 1+ (vspSR6)2vsp1l/1+ (vspSR6)2vsp1Cl

SR8: 1+ (vspSR7)2vsp1/1+ (vspSR7)2vsp1lCl

SR9: 1+ (vspSR8)2vsp1l/1+ (vspSR8)2vsp1lCl

R10: 1 + (vspSR9) 3 -3 + (vsp SR9) 1 CIT & C For help with this pattern, please email me.
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